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1. (89 [ 38 ] 61)              (77 [ 46 ] 41)               (61 [ ? ] 13)

                                
2. ( 7 [ 77 ] 22 )             ( 69 [ 138 ] 4 )            ( 79 [ ? ] 6 )



3. ( 42[ 45 ] 132 )           ( 31 [ 21 ] 73 )            ( 86 [ ? ] 124 )


4. ( 96 [ 4 ] 12 )               ( 72 [ 9 ] 4 )                 ( 84 [ ? ] 6 )


5. (16 [ 48 ] 6 )                ( 34 [ 51 ] 3 )               ( 78 [ ? ] 3 )


6. ( 84 [ 17 ] 7 )                  ( 121 [ 16 ] 11 )                 ( 213 [ ? ]  71 )


7. (13 [ 55 ] 143)                (18  [ 45 ] 162)              (9 [ ? ] 72) 


8. ( 60 [ 25 ] 78 )                  ( 27 [ 32 ] 52 )                  ( 18 [ ? ] 82 )


9. ( 90 [ 21 ] 30 )                  ( 48 [ 28 ] 12 )                  ( 45 [ ? ] 9 )


10. ( 75 [ 58 ] 5 )                     ( 67 [ 26 ] 29 )              ( 54 [ ? ] 18 )
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Find the missing number in the third group by studying the pattem created by the first two groups
The number in the centre has been found from the numbers on either side of it
You will need to add, subtract, multiply, divide or a combination.

Example
(1713812) (131299 1214
n+2-9 1343:16 (+ 4=15
19x2-38 Ibx 2232 15% 2 =30

Answer: 30
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